

KANSAS CORPORATION COMMISSION OIL & GAS CONSERVATION DIVISION

1055398

Form ACO-1 June 2009 Form Must Be Typed Form must be Signed All blanks must be Filled

WELL COMPLETION FORM

WELL HISTORY - DESCRIPTION OF WELL & LEASE

OPERATOR: License #	API No. 15
Name:	Spot Description:
Address 1:	
Address 2:	Feet from North / South Line of Section
City: State: Zip:+	Feet from Tast / West Line of Section
Contact Person:	
Phone: ()	
CONTRACTOR: License #	
Name:	Lease Name: Well #:
Wellsite Geologist:	
Purchaser:	
Designate Type of Completion:	Elevation: Ground: Kelly Bushing:
New Well Re-Entry Workover	Total Depth: Plug Back Total Depth:
Oil WSW SWD SIOW Gas D&A ENHR SIGW OG GSW Temp. Abd. CM (Coal Bed Methane) Cathodic Other (Core, Expl., etc.): If Workover/Re-entry: Old Well Info as follows:	Amount of Surface Pipe Set and Cemented at: Feet Multiple Stage Cementing Collar Used? Yes No If yes, show depth set: Feet If Alternate II completion, cement circulated from: feet depth to: w/ sx cmt.
Operator:	
Well Name:	Drilling Fluid Management Plan
Original Comp. Date: Original Total Depth: Deepening Re-perf. Conv. to ENHR Conv. to SW	Chloride content: ppm Fluid volume: bbls Dewatering method used:
Plug Back: Plug Back Total Depth	Location of fluid disposal if hauled offsite:
	Operator Name:
SWD Permit #:	Lease Name: License #:
ENHR Permit #:	Quarter Sec TwpS. R East West
GSW Permit #:	County: Permit #:
Spud Date or Recompletion Date Date Reached TD Completion Date or Recompletion Date	_

AFFIDAVIT

I am the affiant and I hereby certify that all requirements of the statutes, rules and regulations promulgated to regulate the oil and gas industry have been fully complied with and the statements herein are complete and correct to the best of my knowledge.

Submitted Electronically

	Side Two	1055398
Operator Name:	Lease Name:	Well #:
Sec TwpS. R East West	County:	

INSTRUCTIONS: Show important tops and base of formations penetrated. Detail all cores. Report all final copies of drill stems tests giving interval tested, time tool open and closed, flowing and shut-in pressures, whether shut-in pressure reached static level, hydrostatic pressures, bottom hole temperature, fluid recovery, and flow rates if gas to surface test, along with final chart(s). Attach extra sheet if more space is needed. Attach complete copy of all Electric Wire-line Logs surveyed. Attach final geological well site report.

Drill Stem Tests Taken (Attach Additional Sheets)		Yes No	L		n (Top), Depth an	d Datum Top	Sample Datum	
Samples Sent to Geolog	ical Survey	Yes No				iop	Datam	
Cores Taken Electric Log Run Electric Log Submitted Electronically <i>(If no, Submit Copy)</i>		<pre>Yes No</pre> NoNoVes No						
List All E. Logs Run:								
		CASING		ew Used				
		Report all strings set	-conductor, surface, inte	ermediate, producti	ion, etc.			
Purpose of String	Size Hole Drilled	Size Casing Set (In O.D.)	Weight Lbs. / Ft.	Setting Depth	Type of Cement	# Sacks Used	Type and Percent Additives	

ADDITIONAL CEMENTING / SQUEEZE RECORD

Purpose: —— Perforate	Depth Top Bottom	Type of Cement	# Sacks Used	Type and Percent Additives
Protect Casing Plug Back TD				
Plug Off Zone				

Shots Per Foot	PERFORATION RECORD - Bridge Plugs Set/Type Specify Footage of Each Interval Perforated					e			ement Squeeze Record I of Material Used)	Depth
TUBING RECORD: Size: Set At: Packer At:				r At:	Liner R	un:	No			
Date of First, Resumed Production, SWD or ENHR			₹.	Producing N	1ethod:	ping	Gas Lift	Other (Explain)		
Estimated Production Per 24 Hours		Oil Bb	ls.	Gas	Mcf	Wate	ər	Bbls.	Gas-Oil Ratio	Gravity
DISPOSITION OF GAS:			METHOD OF COMPLETION:			PRODUCTION INT	ERVAL:			
Vented Sold		Jsed on Lease		Open Hole	Perf.	Dually (Submit A	Comp. AC <i>O-5)</i>	Commingled (Submit ACO-4)		
(If vented, Subr	nit ACO	-18.)		Other (Specify)						

Mail to: KCC - Conservation Division, 130 S. Market - Room 2078, Wichita, Kansas 67202

Form	ACO1 - Well Completion
Operator	Landmark Resources, Inc.
Well Name	H. J. Vohs 'B' 10-13
Doc ID	1055398

All Electric Logs Run

Computer Processed Interpretation
Microresistivity Log
Dual Induction Log
Dual Compensated Porosity Log
Sonic Cement Bond Log

Form	ACO1 - Well Completion
Operator	Landmark Resources, Inc.
Well Name	H. J. Vohs 'B' 10-13
Doc ID	1055398

Tops

Name	Тор	Datum
Anhydrite	1142	+638
Topeka	3014	-934
Heebner	3231	-1151
Toronto	3252	-1172
Lansing	3271	-1191
ВКС	3500	-1420
Simpson Sand	3554	-1474
Arbuckle	3580	-1500
Total Depth	3650	-1570

Conservation Division Finney State Office Building 130 S. Market, Rm. 2078 Wichita, KS 67202-3802



Phone: 316-337-6200 Fax: 316-337-6211 http://kcc.ks.gov/

Mark Sievers, Chairman Ward Loyd, Commissioner Thomas E. Wright, Commissioner Sam Brownback, Governor

June 03, 2011

JEFF WOOD Landmark Resources, Inc. 1616 S VOSS RD STE 150 HOUSTON, TX 77057-2641

Re: ACO1 API 15-163-23924-00-00 H. J. Vohs 'B' 10-13 NW/4 Sec.13-10S-19W Rooks County, Kansas

Dear Production Department:

We are herewith requesting that the Well Completion Form ACO-1 and attached information for the subject well be held confidential for a period of two years.

Should you have any questions or need additional information regarding subject well, please contact our office.

Respectfully, JEFF WOOD



PO BOX 31 Russell, KS 67665

Voice: (785) 483-3887 Fax: (785) 483-5566

Bill To:

Landmark Resources, Inc. 1616 S. Voss ST #150 Houston, TX 77057-1264 Invoice Number: 126133 Invoice Date: Feb 4, 2011 Page: 1

INVOICE

Federal Tax I.D.#: 20-5975804

71730

Custor	ne r ID	1	Vell Name/# or Customer P.O		Payment Terms			
Lar	nd		H-J Vohs B #10-13		Net 30 Da Service Date Feb 4, 2011		ning and starting and a second s	
Job Lo	cation		Camp Location				Due Date 3/6/11	
KS2	-01		Russell					
Quantity	Item		Description		Unit Price		Amount	
150.00	MAT	Class	A Common		13.50		2,025.00	
	MAT	Gel			20.25		60.75	
	MAT	Chlorid	de		51.50		257.50	
150.00	SER	Handli	ng		2.25		337.50	
40.00	SER	Mileag	e 150 sx @.10 per sk per mi		15.00		600.00	
1.00	SER	Surfac	e		991.00		991.00	
40.00	SER	Pump	Truck Mileage		7.00		280.00	
	04							
						1		
			REC	EIVED				
					A second to the second	The second s		
			FEB 1	G ENT'D		1.512-		
						4		
						1.11		
е ^с				- 4				
					9 °			
а. "н						=		
ALL DD1055			Subtotal	5. 			4,551.75	
	ARE NET, PAY		Sales Tax				147.62	
INVOICE.	1 1/2% CHARG	ED	Total Invoice Amount	N:	and a second		4,699.37	
	R. IF ACCOU		Payment/Credit Applied				4,099.37	
CURRENT, T	AKE DISCOUN	II OF	TOTAL				4,699.37	
\$ 910	35				30.		4,055.37	

Pd. 2-16-11 2-16-11 2-16-11 3-86-51 2-16-11 2-16-11 2-16-11 2-16-11 2-16-11 2-16-11 2-16-11 2-16-11 2-16-11 2-16-11 2-16-12 2-

\$3,789.02

ONLY IF PAID ON OR BEFORE Mar 1, 2011

	ALI		CEM Federa	ENTING	CO., L	LC.	034092
REMIT TO P.O. B RUSS		NSAS 6766			SER	VICE POINT:	Ks.
DATE 2 - 11-2011	SEC.	TWP.	RANGE	CALLED OUT	ON LOCATION	JOB START	JOB FINISH
H-J LEASE VOHS B OLD OR VEW CIN	WELL #	10-13	LOCATION RE	zinvuille Ks. 3 s	5W SSIAT	COUNTY Reaks	STATE LANSAS
CONTRACTOR / TYPE OF JOB C e HOLE SIZE / 2 V CASING SIZE 8	Vurrent ment 4 578 Ne	Surfa T.D.	222'	OWNER CEMENT AMOUNT ORI	Contraction of the second second	SX Com	

BBL

DEPTH

DEPTH

DEPTH

MINIMUM

SHOE JOINT

AMOUNT ORDERED

COMMON_____/5

POZMIX

CHLORIDE

ASC____

GEL

3

5

2% GeL

2. CC/

# 48 DRIVER MARK - Nick	
BULK TRUCK	-
# DRIVER	
	HANDLING 50 MILEAGE 10 /5 /6 /m
REMARKS:	
RAN & New JT'S 23# 8% ESG.	
Set @ 220'	S
Clament w/ 150 SX Cement, Displaced	a barra da la companya
13 14 BBL H2° BEHIND, SHUT IN	DEPTH OF JOB
@250#	PUMP TRUCK CHARGE

15

EQUIPMENT

CEMENTER GLENN

Heatt

HELPER

Cement Did Circulate SURFACE CHARGE TO: LANDALARY esources STREET _____ STATE _____ ZIP_ CITY____

DEPTH OF JOB 991.00 PUMP TRUCK CHARGE EXTRA FOOTAGE (a) 40 MILEAGE @ 7,00 280,00 MANIFOLD ____ @

@ @

SERVICE

TOTAL 1271,00

@ 12.50 2025

@ 51,50 257,50

60.75

100,00

TOTAL 3280,75

@

@

@ @ @

@

@

@ @ @

@ 2.21

@ 20.25

PLUG & FLOAT EQUIPMENT

@ @ @ @

To Allied Cementing Co., LLC.

DRILL PIPE

PRES. MAX

MEAS. LINE

DISPLACEMENT

PUMP TRUCK

BULK TRUCK

417

CEMENT LEFT IN CSG.

TOOL

PERFS.

TUBING SIZE 23 #cs6

Vary and handher requested to mant manatime.



PO BOX 31 Russell, KS 67665

13550

Voice: (785) 483-3887 Fax: (785) 483-5566

Bill To:

Landmark Resources, Inc. 1616 S. Voss ST #150 Houston, TX 77057-1264

ONLY IF PAID ON OR BEFORE Mar 8, 2011

INVOICE

Invoice Number: 126185 Invoice Date: Feb 11, 2011 Page: 1

Federal Tax I.D.#: 20-5975804

10, 23-14 38688 15, 953, 21

Customer ID	Well Name/# or Customer P.O.	Payment Terms Net 30 Days	
Land	H J Vohs B #10-13		
Job Location	Camp Location	Service Date	Due Date
KS2-02	Russell	Feb 11, 2011	3/13/11

Quantity	Item		Description	Unit Price	Amount
		Class A Com	imon	13.50	3,240.00
160.00		Pozmix		7.55	1,208.00
		Gel	e an ^a geografie a station a station a	20.25	465.75
175.00		ASC Class A		16.70	2,922.50
1,400.00		Gilsonite		0.85	1,190.00
143.00		Flo Seal		2.45	350.35
575.00	1.	Handling	ີ້ ເຈັນເຊັ່ງ 2 ຊີສະຊຸດທີ່ ¹ ີ	2.25	1,293.75
35.00		Mileage 575 s	sx @.10 per sk per mi	57.50	2,012.50
	SER	Production String DV Job 1,957.00			1,957.00
35.00		Pump Truck I	Mileage	7.00	245.00
	EQP	5.5 D V Tool	SP 1996 (c. 1997)	2,832.00	2,832.00
12.00		5.5 Centralzie	P	35.00	420.00
10	EQP	5.5 Basket		161.00	483.00
	EQP	5.5 AFU Float	t Shoe	214.00	214.00
2.00	EQP	5.5 Stop Ring	RECEIVED	27.00	54.00
			B Th Bernet Theory American S W control and the		
			FEB 2 3 ENT'D		a
			I Low by CI LITI U		
				× .	
			-		
					x x 11 x
ALL PRICES ARE NET, PAYABLE Subtotal			18,887.85		
30 DAYS FO	30 DAYS FOLLOWING DATE OF Sales Tax		842.91		
	1 1/2% CHARGE		Total Invoice Amount		19,730.76
	R. IF ACCOUNT AKE DISCOUNT		/ment/Credit Applied	10,700.70	
		- French and an operation	TAL	19,730.76	
\$ 3777,55					19,730.76

<-3,777.55/ 15,953,21

ALLIED CEMENTING CO., LLC. 034143

Federal Tax I.D.# 20-5975804

RUSSELL, KANSAS 67665	2	SERV	VICE POINT: Russell	
			SISA	9115th Ton Sh
DATE 2/11/11 SEC. TWP. RANGE C	CALLED OUT	ON LOCATION	JOB START 3:30A-	JOB FINISH 4:30 A
H.J. Voh SB WELL# 10-13 LOCATION Plainu	Ile 5 to A.	AKI	COUNTY	STATE KS
	1/25 Einst.			
CONTRACTOR MURFIN Drillin Ris#16	OWNER			
TYPE OF JOB Production String PV. Job	0 11 121			
HOLE SIZE > 7/4 T.D. 3650	CEMENT			
CASING SIZE 5/2 15,54 DEPTH, 3641	AMOUNT ORDI	ERED 175/	75C 103 5	alt
TUBING SIZE DEPTH	8th Gilsonite		1 1/4 # /2	1 AND 11
DRILL PIPE DEPTH	Toin 400 6	1/4. 1. J. 1.	1 1/2 # [2]	1
TOOL AV, Tool DEPTH 1425		o Gel WF		
PRES. MAX MINIMUM	COMMON	240	@ 13.5%	3240.00
MEAS. LINE SHOE JOINT //, 15	POZMIX	160	@ 7155	1208,00
CEMENT LEFT IN CSG. 11.15	GEL	23	@ 20,25	465.75
PERFS.	CHLORIDE		@	
DISPLACEMENT 86, 52 661 Dotton Stars	ASC 175		@ 16,70	2922,50
Tey Stage 34 12/ EQUIPMENT	Gilsonite	1400	@ 185	1190,00
byour ment	Flo Seul	14314	@ 2,45	350,35
			@	
PUMPTRUCK CEMENTER Shane Heath	America Totalando			
# 417 HELPER Woody			@	8
BULK TRUCK			@	
# 410 DRIVER Mark		5	@	
BULKTRUCK			@	
# 481-292 DRIVER Todal Nick	HANDLING	575	@ 2.25	1293,75
C	MILEAGE //a/	1.1.		2012,50
REMARKS:		1		12,682,75
Rat Hole Bosts			TOTAL	
AV Tool @ 1422		SERVIO	∩F	
Insert @ 3629,85, Mikal 500 Gol WFR-2	3 8	SERVI		
Mixed 175 oks_ Shufdown. Washed	DEPTH OF JOB			
pump & Comes Displayed 86.5 fell, Candal	PUMP TRUCK C	HARGE	-	1957,00
she @ 1700 psi Float Held.	EXTRA FOOTAC		@	Nic.
Openel DY Tas/ @ poops; Est Citculation	MILEAGE	25		245.00
Mined 370 stes, Cement, Circulatel	MANIFOLD		The same distance in the second se	<u><u>v-</u><u>r</u><u>r</u><u>r</u><u>r</u></u>
Closed AV Toul @180005;-		×	@	
Crosta in the Cooper	-		@	
CHARGE TO: Candmark Respurces				
CHARGE IO: CANOMERIC RESOURCES			TOTAL	2202.00
STREET			IUIAL	7
CITYSTATEZIP	PL	UG & FLOAT	EOUIPMEN	Т
	AV Tool			2832.00
thanks		lizers	@ 35.00	
Thurks	3- Basken	45	@ 161.00	the second
To Allied Computing Co. LLC	AEV-Flogt	Shor	@	
To Allied Cementing Co., LLC. You are hereby requested to rent cementing equipment	Catch do.	And the second sec	@	
Tou are necessively requested to remember the equipment	A 1 7			

You are hereby requested to rent cementing equipment